tbar{t}} [p b/G eVZ]

G‘—O'IIU
cdot m-~

t,1
T

d

Ratio to ATLAS

d* {p

o
&

|
o
&

0.5

13000 GeV pp

- I T T T | T T I |_ 9
L top B S
P_" (ATLAS ttbar) >
T
=
B mB ATLAS — z
--G-- Herwig++ 2.7.1 default N
| ---- Herwig 7.2.1 default _ g!
— —4— Pythia 8.308 default = ;
- %
=
B 1
— . n
i 1=
o
<
o™
©
- 1o
L 1™
B 1
B —H.=
B %
B .5,
B =
o
u g e
e 5
B dwn
ks
o
(@)
| | | | | | | | | &
:l I I ' ' | I T |:
- 32
1
B —0.5
----------------------- (9
| L - =-=-q=-=--7-"" L 1 | 1 . 1 . |
0 500 1000



	Contents
	Page 1


